


b1-ch3-1-plot.R

library(openxIsx)
samplei<-read.xIsx("http://kanggc.iptime.org/book/data/sample1-n.xlIsx")
year<-sample1$year

gdp<-sample1$gdp

consumption<-sample1$consumption

gdp

consumption

par(mfrow=c(2,1))
plot(year, gdp, type="I", main="GDP of Korea(2000-2016)")
plot(year, consumption, type="1", Ity=2,main="Consumption of Korea(2000-2016)")

GDP of Korea(2000-2016)

Consumption of Korea(2000-2016)

consumption
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2. o|AE=H bi-ch3-2—plot.A

library(openxIsx)
samplei<-read.xIsx("http://kanggc.iptime.org/book/data/sample1-n.xlIsx")
year<-sample1$year

gdp<-samplei$gdp

consumption<-sample1$consumption

gdp

consumption

par(mfrow=c(1,2))

hist(gdp)

hist(consumption, breaks=8, col="red")

Histogram of gdp Histogram of consumption
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b1-ch3-3-plot.R

library(openxlIsx)

sample1<-read.xlIsx("http://kanggc.iptime.org/book/data/sample1—-n.xIsx")

year<-sample1$year

gdp<-sample1$gdp
consumption<-sample1$consumption
gdp

consumption

plot(gdp, consumption, main="Scatter plot of GDP and Consumption")

Scatter plot of GDP and Consumption
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4. AXaef=

b1-ch3-4-plot.R

library(openxIsx)
samplei<-read.xIsx("http://kanggc.iptime.org/book/data/stat—1.xIsx")
mid<-sample1$mid

final<-sample1$final

total<-sample1$total

grade<-samplei$grade

summary(sample1)

par(mfrow=c(1,3))

boxplot(mid, main="Box plot of mid")

boxplot(final, main="Box plot of final")

boxplot(total, main="Box plot of total")

Box plot of mid Box plot of final Box plot of total




5. /e =

b1-ch3-5-rev.R

library(openxIsx)
samplei<-read.xIsx("http://kanggc.iptime.org/book/data/stat—1.xIsx")
mid<-sample1$mid

final<-sample1$final

total<-sample1$total

grade<-sample1$grade

table(grade)

slices<-c(4,11,11,16,9,5,3,1)
lbls<-c("1&&8","26"."3s8"."458",'565"."665"."768"."858")

pie(slices, labels=Ibls, main="Pie Chart of Total Score")

Pie Chart of Total Score




b1-ch3-6-plot.R

library(openxIsx)
samplei<-read.xIsx("http://kanggc.iptime.org/book/data/stat—1.xIsx")
mid<-sample1$mid

final<-sample1$final

total<-sample1$total

grade<-sample1$grade

total

grade

counts<-table(total, grade)

barplot(counts, main="Bar Chart of Total Score", xlab="Grade")

Bar Chart of Total Score
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decimal point is 1 digit(s) to the right of the
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b1-ch3-7.R

[Tl v s B B e R W

library(openxlsx)

samplei<-read.xIsx("http://kanggc.iptime.org/boek/data/stat—1.xIsx")

mid<-sample1$mid
final<—sample1$final decimal point is 1 digit(s) to the right of the

total<-sample 1$total 801
grade<-sample1$gra 0177831135788

0011233335577 8888012445666789
total 111234444570235

stem(total)

stem(total, scale=0.5)
stem(total, scale=2) decimal point is 1 digit(s) to the right of the
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